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§10-2 Polar Coordinates ( fiy=k 48 )

Radial coordinate
Angular coordinate
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§10-4 Parahola. (Pa780)

The-Parabola
A parabola is the set of all points P in the plane that are equidistant from a
fixed point F (call the focus of the parabola) and from a fixed line L (call the
parabola’s directrix) not containing F.
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§10-5 The Ellipse (el
The Ellipse
Support that e<1, and let F be a fixed point and L a fixed line not
containing F. The ellipse with eccentricity e, focus F. and directrix L is the
set of all points P such that the distance |PF| is e times the
(perpendicular) distance from P to the line L.
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§10-6 The Hyperbola ( S3liz6L)

The Hyperbola
Support that e>1, and let F be a fixed point and L a fixed line not
containing F. Then the hyperbola with eccentricity e, focus F. and directrix

L is the set of all points P such that the distance |PF| is e times the
(perpendicular) distance from P to the line L.
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